Ch 7 Test Name

Solve each proportion.

8 _k r_4
D5=7 D59
A) {6} B) {2}
56]
o {3} D) 5 |
r+1_z _9__a+5
3 8 9 4 5 7
A) {5.22) B) {~1.7}
O {7.1) D) {7}

The polygons in each pair are similar. Find the missing side length.
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Find the missing length. The triangles in this pair are similar.

7) ADCB ~ADTU

Solve for x. The triangles in this pair are similar.

8) AFGH ~AJKL

56



State if the triangles in this pair are similar. If so, complete the similarity statement.
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A) similar; AECD
B) not similar

C) similar; ADCE
D) similar; ACDE

Find the missing length indicated.
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Solve for x.
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